CMNB Problem Set #3 
1. Here is an action potential (above) and its underlying currents (below) from a squid axon, plotted using the Na Action Potential tutorial (Basic Patch) in NIA2.
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(a) Why is there a “dip” in the Na current at about 1.3 ms?  Make a scientific argument for your answer based on the time at which this dip occurs with respect to the action potential.

(b) Why is the Na current, INa,  at its largest value during the falling phase of this action potential?

2.  What have I done to this squid axon?  
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3. Now what have I done to this squid axon? What experiment have I carried out?  You can be fairly precise in your answer.
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4.  This is a voltage clamp pulse (in an ideal circuit).  What is Icap at t=0.5 ms and at 1ms?  
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